जन – जन के लिये भण्डारण

WAREHOUSING FOR EVERYONE



केन्द्रीय भण्डारण निगम CENTRAL WAREHOUSING CORPORATION (उपक्रम का सरकार भारत) (A GOVT. OF INDIA UNDERTAKING) क्षेत्रीय कार्यालय :पटना/ REGIONAL OFFICE : PATNA



Dated: 29.04.2024

CWC RO-PAT/Engg/Siwan/NIQ/2024-25

NOTICE INVITING QUOTATION

Name of work: Extension of HT line 3 phase for providing new service connection of 40 KW to M/s RPPMSL at vill- Mohhiudinpur (Bhada Road CWC abdul samadnagar near jama masjid), Block-Siwan Sadar 11 KV Jiradei Feeder From 33/11 KV Siwan Srinagar PSS Applying Online Request No 521813007729 Under electric supply section Siwan Rural Sub-Division Siwan- Rural, Division Siwan under Deposite Head Scheme.

Sealed percentage rate quotations in single bid system are invited from the Contractors having Valid HT Electrical License from Govt. of Bihar for Extension of HT line 3 phase for providing new service connection of 40 KW to M/s RPPMSL at CW, Siwan. Estimate cost for this work is Rs. 3,42,225.00. EARNEST MONEY DEPOSIT amounting to Rs. 6,900/- (Rupees Six Thousand Nine Hundred Only) must be deposited through online mode in the Account of CENTRAL WAREHOUSING CORPORATION with account details mentioned below.

A/c Name: Central Warehousing Corporation, Regional Office -Patna.

A/c No.: 50100434218405 IFSC: HDFC0000467

The Quotation papers for the above work may be obtained from the Office of the Executive Engineer, Regional Office, Central Warehousing Corporation, Mauryalok Complex, Block-A, 2nd Floor, Dak Bungalow Road, Patna-800001 in working hours from 10.00 a.m. to 04.00 p.m. on or before 05.05.2024.

The **quotations** are requested to quote the rate in schedule of work enclosed at **page No.05** and the quotation under sealed envelope superscribing the name of work shall be submitted to the **Office of the Executive Engineer, Regional Office, Central Warehousing Corporation, Mauryalok Complex, Block-A, 2nd Floor, Dak Bungalow Road, Patna-800001 up to 15.00 hours. on <u>06.05.2024</u> and the same will be opened at 15.30 hrs on the same day in the presence of quotationers/contractors who may wish to be present at the time of opening.**

The quotation papers can also be downloaded from the web site www.cewacor.nic.in and www.tenderhome.com.

The Central Warehousing Corporation reserves the right to accept or reject all/ any part of quotation without assigning any reason there-of.

Encl:

- 1. Schedule of quantity, Annexure-I (Page: 02).
- 2. Terms & Conditions, Annexure-II (Page: 03).
- 3. Performa for quoting the rate. **Annexure-III (Page: 04)**.

Copy to:

- 1. The Regional Manager, CWC, RO, Patna.
- 2. Assistant Manager (A/Cs), CWC, RO, Patna.
- 3. Assistant Engineer, (Elect.) CWC, RO, Patna.
- 4. Warehouse Manager, CW, Siwan
- 5. Notice Board of RO –Patna / CW-Siwan

Executive Engineer

Page 1 of 4

CENTRAL WAREHOUSING CORPORATION (A GOVT.OF INDIA UNDERTAKING)

Name of work: Extension of HT line 3 phase for providing new service connection of 40 KW to M/s RPPMSL at vill- Mohhiudinpur (Bhada Road CWC abdul samadnagar near jama masjid), Block-Siwan Sadar 11 KV Jiradei Feeder From 33/11 KV Siwan Srinagar PSS Applying Online Request No 521813007729 Under electric supply section Siwan Rural Sub-Division Siwan- Rural, Division Siwan under Deposite Head Scheme.

Schedule of Works

Sl. No.	Name of Materials	Unit	Rate	Qty	Amount
1	100 KVA Dist. Transformer	Nos	153459	1.00	153459.00
2	PSC Pole 400 kg	Nos	3267.42	6.00	19604.52
3	11 KV V-Cross Arm	Nos	796.81	6.00	4780.86
4	Stay Set Complete	Set	2234.58	2.00	4469.16
5	ACSR Dog conductor	KM	96323.4	0.40	38529.36
6	11 KV PIN insulator with pin	Nos	118.8	18.00	2138.40
7	11 KV disc insulator with fitting	Set	448	2.00	896.00
8	Tr. Base, AB switch Channel with S/C	Pair	1512.94	1.00	1512.94
9	H.G. Fuse channel with S/C	Pair	1512.94	1.00	1512.94
10	Transformer Belting	Set	988.85	1.00	988.85
11	11 KV AB Switch 200 AMP	Set	15517.00	1.00	15517.00
12	11 KV H.G Fuse set	Set	7382.00	1.00	7382.00
13	11KV Lighting arrestor	Set	1046.53	1.00	1046.53
14	Earthing set complete	Set	2990.87	1.00	2990.87
15	Kit-Kat fuse set	Set	575.00	3.00	1725.00
16	M.S Nut-Bolt	Kg	83.00	20.00	1660.00
17	LT Cable 50 SQ MM	Km	200468.05	0.10	20046.81
18	3-PhLTCT Energy Meter	Nos	14080.11	1.00	14080.11
19	11 KV Top Bracket	Nos	268.41	2.00	536.82
20	Danger board for both pole	Nos	72.00	2.00	144.00
21	Sundries	LS	LS		2000.00
	(A) Total Cost of materials				295021.17
22	(B) TP @2%				5900.42
23	(C) Transportation @ 4%				11800.85
24	(D) Labour cost @10%				29502.12
	(E) Total Rupees				342224.56
	Say				342225.00

SIGNATURE OF CONTRACTOR

EXECUTIVE ENGINEER

Page **2** of **4**

TERMS & CONDITIONS:

- 1. Works should be executed as per Electricity Department specifications.
- 2. Water & Electricity will be arranged by the contractor at his own cost.
- 3. All T&P required for the work shall be arranged by the contractor at his own cost.
- 4. The rates are inclusive all lead & lifts and GST etc.
- 5. All taxes Income Tax etc (Inclusive GST tax) as applicable will be deducted as per Govt. Rule from the Contractor bill.
- 6. 10% Security Deposit will be deducted from the gross bill amount & will be released after the defect liability period of Twelve month which will be reckoned from the date of successful completion of the work. In case any defect is found within the defect liability period, the same shall be repaired by the contractor immediately at his own cost.
- 7. Contractor will be fully responsible to labour payments, accident, mishappening, damages & other labour welfare & safety measures.
- 8. Time allowed for completion of work is 30 days from the date as to be mentioned in the work order.
- 9. The above shown quantities are tentative & may vary as per site condition.
- 10. All payments will be released through e-payments by CWC, RO-Patna.
- 11. GST or any other tax on input material or services used by contractor in respect of this contract shall be Payable by the contactor and Central Warehousing Corporation will not entertain any claim whatsoever in this respect.
- 12. The rates quoted by the contractor should be Inclusive of GST.
- 13. In the event of any of the documents found fabricated / forged / tampered /altered / manipulated in the NIQ, he would be debarred for participating in CWC tendering for 5 years.
- 14. The party to whom the work will be awarded will execute a formal agreement with CWC on a non-Judicial stamp paper of appropriate value.
- 15. In the event of failing to execute the work within quoted rate he would be banned for a period participating of 5 years in CWC tender / quotation.
- 16. Copy of self-attested PAN CARD, GST Registration, Proof of EMD Payment and Valid HT Electrical licence issued from Govt of Bihar along with signed quotation / tender document shall be submitted. The Quotationer who fails to submit these documents will be summarily rejected.
- 17. The rate quoted will remain valid for 60 days w.e.f date of opening of bid.
- 18. For item of steel work the payment would be made on actual weight or theoretical weight whichever is less.
- 19. Transformer should be BIS Energy Level-II and within permissible limit of "No load loss" as specified by BEE, the 100KVA, 11/.4KV.
- 20. The Contractor must have completed at least one similar nature of work (i.e. Supply, Installation, Testing and Commissioning of capacity of individual transformer of size 80 KVA) during the last four financial year (i.e., , 2020-21, 2021-22, 2022-23, 2023-24) & current year (2024-25) up to the date of quotation submission. Contractor who fails to submit experience of above mentioned work will be summarily rejected.

SIGNATURE OF CONTRACTOR

EXECUTIVE ENGINEER

जन – जन के लिये भण्डारण

WAREHOUSING FOR EVERYONE



Estimated Cost Rs. 3,42,225.00

केन्द्रीय भण्डारण निगम CENTRAL WAREHOUSING CORPORATION (उपक्रम का सरकार भारत) (A GOVT. OF INDIA UNDERTAKING) क्षेत्रीय कार्यालय :पटना/ REGIONAL OFFICE : PATNA



Annexure-III

Name of work: Extension of HT line 3 phase for providing new service connection of 40 KW to M/s RPPMSL at vill- Mohhiudinpur (Bhada Road CWC abdul samadnagar near jama masjid), Block-Siwan Sadar 11 KV Jiradei Feeder From 33/11 KV Siwan Srinagar PSS Applying Online Request No 521813007729 Under electric supply section Siwan Rural Sub-Division Siwan- Rural, Division Siwan under Deposite Head Scheme.

(Rupees Three Lakh Forty Two Thousand Two Hunds	red Twenty Five Only)
a) I/We hereby tender our rates as	%percent) ABOVE the
rates entered in the Schedule of quantities from item	No. 01 to 24.
	OR
b) I/We hereby tender our rates as(BELOW the rates entered in the Schedule of quantitie	
Note: 1. Quotationers should quote their percentage appropri	
2. No enhancement or abatement is applicable for cred	dit value item.
SIGNATURE OF CONTRACTOR	EXECUTIVE ENGINEER

Page **4** of **4**